
2nd flr

59.813"

7.477"

52.336"

53.75"

53.75"

3rd landing

1st flr

2nd landing

1st landing

basement

run 1

run 2

run 3

run 4

p1

ID1

p2

ID1

10
2

36"
1.375"

11"

74.313"

36"

1.156"

36"

1.156"

19.156"

15.906"

81.438"

66.875"

outline of floor
opening above

outline of floor
opening above

outline of nosing
overhang above

outline of nosing
overhang abovefloor above removed

for this plan view

railings not shown

97.75"

d
n

up

run 1

run 2

10
2

run 3

run 4

floor above removed
for this plan view

railings not shown

d
n

u
p

104.125"

104.625"

40"

2.5"

40"

2.469"

40.75"

1"

40.75"

2.469"

22.469"

22.468"

11.688" 37.5"

37.75"

2.625"

outline of nosing

87.438"

outline of floor
opening above

run 1&2 tread plate support (12 pieces)

1"

4.125"

.25"
.75"

1.25"

2.289"

8.5"

.25"
4.125"

.5"

1.5"

.25"

1"

1.215"

side viewfront view back view

32"

.375"
15.813"

.5"
.25"

3" 11.75" 1.5" 11.75" 3"

.875"
3"

.875"

4.75"

1.5"
r = 48.408"

r = .25"

32"

31"

4.883"

.875"
3"

.875"

4.75"

r = .25" r = .25"

1/2"-13 x 1" high strength steel cap screw
with washer - grade 8 - typical

clearance hole
for 1/2"-13 cap screw

clearance hole
for 1/2"-13 cap screw.24"

32"

8.5"

top view

clearance hole for 5/8"-11
flat socket head screw

1"10"10"10"1"

1"

6.5"

1"

outline of wood & glass tread

126.78-d

run 3&4 tread plate support (12 pieces)

36"

9.188"

top view

clearance hole for 5/8"-11
flat socket head screw

1"
1"

1"

7.188"

1"

outline of wood & glass tread

11.333" 11.333" 11.333"

back view

36"

35"

5.186"

.875"
3"

.875"

4.75"

r = .25"

clearance hole
for 1/2"-13 cap screw

front view

36"

.375"
17.813"

5" 11.75" 1.5" 11.75" 5"

.875"
3"

.875"

4.75"

r = 48.408"

r = .25"

r = .25"
clearance hole

for 1/2"-13 cap screw

.25"
.5"

1.5"

9.188"

side view

1/2"-13 x 1" high strength steel cap screw
with washer - grade 8 - typical

.25"
4.125"

1.5"

.5"

125.7-d

1.167"

1.012"

4.875"

1".25"

.232"2.598"

1.25"

.75"
.25"

1"

4"

1"

1"7"1"

.495"

5.01"

.495"

2"5"2"

6"

9"

i-beam welded to 3/8" plate 

clearance hole
for 5/8"-11 threaded rod

plates fastened to concrete with 5/8" x 11
high strength steel grade 8 threaded rods set in
simpson edot epoxy anchoring adhesive 

clearance hole
for 5/8"-11 threaded rod

i-beam welded to 3/8" plate 

plates fastened to concrete with 5/8" x 11
high strength steel grade 8 threaded rods set in
simpson edot epoxy anchoring adhesive 

2.262" 8.5" 1"

1"

4"

1"

.5"
8.367" 2.895"

11.762"

.5"

5"

.5"

6"

mount plate type 1 

mount plate type 2 

id1

2/02/16

as noted

checked:

date:

scale:

issue / revision:

project:

drawn by:

HBJ

da
te

:
de

sc
rip

tio
n:

no
.

2/
0
2/
16

p
r
e
l
im
in
a
r
y

1

sheet:

d
o
n
o
f
r
io
s
t
a
ir

p
r
o
je
c
t

4
8
P
a
r
k
t
r
a
il

c
r
o
t
o
n
o
n
h
u
d
s
o
n
,
n
y
10
5
20

b
r
a
d

j
e
n
k
i
n
s

i
n
c

29
1
M
t
.
K
e
m
b
l
e
A
v
e

M
o
r
r
is
t
o
w
n
,
N
J
0
79
6
0

9
73
.3
3
1.
19
9
5

2

This drawing set is for design intent only and is not intended to be used as a
shop drawing set. All dimensional data is to checked, verified and confirmed
by the steel fabricator and installer. The steel fabricator is solely
responsible for all dimensional data and its accuracy.

Work shall be reviewed under the latest edition of
the ibc, NY edition. All work is to conform to all
applicable requirements of all governing local,
state and federal codes, laws, and regulations; and
best trade practices.

general notes:

elevation e1
scale: 1/2" = 1'-0"

1
ID1

basement plan p1
scale: 1/2" = 1'-0"

2
ID1

1st. floor plan p2
scale: 1/2" = 1'-0"

3
ID1

tread plate detail d2
scale: 2" = 1'-0"

5
ID1

drawing:

g
e
n
e
r
a
l
e
l
e
v
a
t
io
n
e
1

g
e
n
e
r
a
l
p
la
n
s
p
1
&
p
2

t
r
e
a
d
p
la
t
e
d
e
t
a
il
s
d
1-
2

m
o
u
n
t
p
l
a
t
e
d
e
t
a
il
d
3

tread plate detail d1
scale: 2" = 1'-0"

4
ID1

mount plate detail d3
scale: 2" = 1'-0"

6
ID1

- steel components to have a rusted finish as may be achieved with a
product such as "jax antique rust". jax chemical: (914) 668-1818.
- stainless steel components, primarily the rail supports, are to have
a brushed finish.
- cable system components are stainless steel and are to be supplied
by Ultra-tec and may be sourced through wagner (888) 243-6914

metal finish notes:

Copyright © 2016 BRAD JENKINS INC



4.625"2"20"2"7"

.375"

35.625"

36"

4.976"

30.615"

30.99" 5.01"

5.01"

29.906"

7.477"

40" 16.322"

92.322"

4.125"

8.361"

4.125"

8.361"

4.125"

8.361"

4.125"

5.332"

3.029"

4.125" 2" 10.197"

42.393"

43.344" 17.988"

3.25"

3.25"

11.5" 5" 11.5"

28"

42.393"

15.75"5"8.25"

29"

3.562"

.099"

1.59"

2.38"

.24"
2.38"

35.625" 40" 16.322"

15.75"

8.25"

11.5"

11.5"

5"

7" 4.625"2"20"2"

2"4.125"

112.5 - d

59.813"

E3

ID2

E2

ID2

E4

ID2

E5

ID2

37.383"

29"

28"

E6

ID2

Lower section of run 1 removed
from drawings 2-5 for clarity
(shown here as outline) 

20.055"

.375"

20.43"

27.625" 2"

2.375"

32"

5.01"

.375"

12.578"

7.477"

16.823"

2.895"

6"
11.762"

1.366"
4.125"

8.361"

4.125"

3.029"

21.98" 13.467" 8.367"

4.976"

10.068"

1.59"

.26"

3.562"
13.606"

1.59"

.26"

3.562"13.606"

3.25"

126.78 - d

126.78 - d

3"

3"

28"

20.43"

5"

6"

5"

9"
9"

28"

20.43"

upper section of run 1 removed
from drawings 7-11 for clarity
(shown here as outline) 

12.982" 16.823"

2.375"

2"16.5"2"9.125" 16.823"

32"

11.762"

6"9"

6"

5"

11.5"

11.5"

28"

22.43"

48.823"

32"

E7

ID2

E9

ID2

E8

ID2

9"

6"

mount plate type 1
drawing #6 on ID1 

mount plate type 1
drawing #6 on ID1 

mount plate type 1
drawing #6 on ID1 

mount plate type 1
drawing #6 on ID1 

mount plate type 1
drawing #6 on ID1 

mount plate type 2
drawing #6 on ID1 

mount plate type 2
drawing #6 on ID1 

w5x16 steel i-beam
construction typical

w5x16 steel i-beam
construction typical

w5x16 steel i-beam
construction typical

w5x16 steel i-beam
construction typical

w5x16 steel i-beam
construction typical

w5x16 steel i-beam
construction typical

w5x16 steel i-beam
construction typical

w5x16 steel i-beam
construction typical

w5x16 steel i-beam
construction typical

1/2"-13 tapped holes
typical for tread
support mounting

1/2"-13 tapped holes
typical for tread
support mounting

1/2"-13 tapped holes
typical for tread
support mounting

1/2"-13 tapped holes
typical for tread
support mounting

type 1 wing support 

type 1 wing support 

type 1 wing support 

type 2 wing support 

type 2 wing support 

type 2 wing support 

type 4 wing support 

type 4 wing support 

type 4 wing support 

type 2 wing support 

type 2 wing support type 2 wing support 

wing support details
drawing #7 on id3

143.22 - d

112.5 - d

mount plate type 1
drawing #6 on ID1 

id2

2/02/16

as noted

checked:

date:

scale:

issue / revision:

project:

drawn by:

HBJ

da
te

:
de

sc
rip

tio
n:

no
.

2/
0
2/
16

p
r
e
l
im
in
a
r
y

1

sheet:

d
o
n
o
f
r
io
s
t
a
ir
p
r
o
je
c
t

4
8
P
a
r
k
t
r
a
il

c
r
o
t
o
n
o
n
h
u
d
s
o
n
,
n
y
10
5
20

b
r
a
d

j
e
n
k
i
n
s
i
n
c

29
1
M
t
.
K
e
m
b
l
e
A
v
e

M
o
r
r
is
t
o
w
n
,
N
J
0
79
6
0

9
73
.3
3
1.
19
9
5

2

drawing:

s
t
a
ir
r
u
n
1
-
d
e
t
a
il
s

elevation e2 - assembled run 1
scale: 1" = 1'-0"

1

ID2
elevation e3
scale: 1" = 1'-0"

2

ID2
elevation e4
scale: 1" = 1'-0"

3

ID2 elevation e5
scale: 1" = 1'-0"

4

ID2

run 1 upper section plan p4
scale: 1" = 1'-0"

5

ID2

run 1 key plan p3
scale: 1" = 1'-0"

6

ID2

elevation e6 - assembled lower run 1
scale: 1" = 1'-0"

7

ID2 elevation e7
scale: 1" = 1'-0"

9

ID2
elevation e8
scale: 1" = 1'-0"

10

ID2
elevation e9
scale: 1" = 1'-0"

11

ID2

run 1 lower section plan p5
scale: 1" = 1'-0"

8

ID2

Copyright © 2016 BRAD JENKINS INC



E11

ID3

E13

ID3

E12

ID3

E10

ID3

w5x16 steel i-beam
construction typical

mount plate type 1
drawing #6 on ID1 

w5x16 steel i-beam
construction typical

37.375" 59.625"

.375" .375"

97.75"

16"5"

6.375"2"20"2"7"

11.5"

11.5"

type 2 wing support
drawing #7 on id3

44.859"

28"

9"

6"

16"

44.579"

7.257"

3"

mount plate type 1
drawing #6 on ID1 

w5x16 steel i-beam
construction typical

1/2"-13 tapped holes
typical for tread
support mounting

type 2 wing support
drawing #7 on id3

mount plate type 3
drawing #8 on ID3 

6.375"2"20"2"7"

.375"

.375"

59.625"37.75"

13.512"

43.334"

39.041" 57.959"

3.25"
5.01"6"

5.332"

4.125"

8.361"

4.125"

8.361"

4.125"

8.361"

4.125"

8.361"

4.125"

8.361"

4.125"

2.561"

1/2"-13 tapped holes
typical for tread
support mounting

w5x16 steel i-beam
construction typical

mount plate type 3
drawing #8 on ID3 

11.5" 5" 11.5"

28"

9"

6"

16"

43.334"

mount plate type 3
drawing #8 on ID3 

w5x16 steel i-beam
construction typical

type 2 wing support
drawing #7 on id3

143.22 - d

13.512"

44.579"

type 1 wing support 

side view 

top view 

end view 

8.25"

3.25"

2.38"

9.75"
.88"

1.252"

3.25"

2"

.25"

10.63"

2"

coordinate geometry
with I-beam shape

continuous weld to I-beam

.25"

end view 

3.25"

2"

.25"

end view 

3.25"

2"

.25"

end view 

3.25"

2"

.25"

r = 33.887"

type 3 wing support 

top view 

15.88"

.25"

type 4 wing support 

top view 

18.13"

.25"

type 2 wing support 

top view 

13.88"

.25"

1"6.25"1"

8.25"

1"

1"

1/4" through hole

coordinate geometry
with I-beam shape

continuous weld to I-beam

coordinate geometry
with I-beam shape

continuous weld to I-beam

coordinate geometry
with I-beam shape

continuous weld to I-beam

1"1"

11.5"

1"

1"
2"

1/4" through hole

1/4" through hole

1/4" through hole

r = 45.586" r = 59.79"

r = 51.995"

1.252"

.88"
13"

3.25"

11.5"2.38"

4.75" 4.75" 1" 4.583" 4.583" 4.583" 1"

1"

1"
2"

15.75"

1"5.75"5.75"1"

13.5"

1"

1"
2"

2.38" 15.75"

3.25"

17.25"
.88"

1.252"

2.38" 13.5"

3.25"

15"
.88"

1.252"

i-beam welded to 3/8" plate 

plates fastened to lvl beams with 5/8" x 11
high strength steel grade 8 cap screws
with grade 8 hex nuts and washers

mount plate type 3 

clearance hole
for 5/8"-11 cap screw

7.5"

5.563"

.449"

13.512"

1.283"
7.528"

1.283"
2.954" 2.954"

10.093"

16"

4.757"

4"1.5"5"5.5"

1"

2.75"

1"

plates fastened to lvl beams with 5/8" x 11
high strength steel grade 8 cap screws
with grade 8 hex nuts and washers

mount plate type 4 

1" r

2.093"

.886"

3.247"

.449"

6.669"

11"5"
.875"

10.125"

1"

1" 9" 7" 9" 1"

27"

clearance hole
for 5/8"-11 cap screw1" r

id3

2/02/16

as noted

checked:

date:

scale:

issue / revision:

project:

drawn by:

HBJ

da
te

:
de

sc
rip

tio
n:

no
.

2/
0

2/
16

p
r

e
l

im
in

a
r

y
1

sheet:

d
o

n
o

f
r

io
s

t
a

ir
p

r
o

je
c

t
4

8
P

a
r

k
t

r
a

il
c

r
o

t
o

n
o

n
h

u
d

s
o

n
,

n
y

10
5

20

b
r

a
d

j
e

n
k

i
n

s
i

n
c

29
1

M
t

.
K

e
m

b
l

e
A

v
e

M
o

r
r

is
t

o
w

n
,

N
J

0
79

6
0

9
73

.3
3

1.
19

9
5

2

drawing:

s
t

a
ir

r
u

n
2

-
d

e
t

a
il

s
d

e
t

a
il

s
d

4
&

d
5

elevation e10 - assembled run 2
scale: 1" = 1'-0"

1
ID3

elevation e11
scale: 1" = 1'-0"

2
ID3

elevation e12
scale: 1" = 1'-0"

3
ID3

elevation e13
scale: 1" = 1'-0"

4
ID3

run 2 plan p7
scale: 1" = 1'-0"

5
ID3

run 2 key plan p6
scale: 1" = 1'-0"

6
ID3

wing support details d4
scale: 2" = 1'-0"

7
ID3

mount plate details d5
scale: 2" = 1'-0"

8
ID3

Copyright © 2016 BRAD JENKINS INC



E15

ID4

E17

ID4

E16

ID4

E14

ID4

w5x16 steel i-beam
construction typical

46.071"

11" 5" 11"

60.373"

6"

48.199"

6.669"

32"

13"

mount plate type 4
drawing #8 on ID3 

w5x16 steel i-beam
construction typical

type 3 wing support
drawing #7 on id3

mount plate type 5
drawing #7 on ID4 

.375"64.75"4.625"2"21.75"2"8.25"

.375"

104.125"

3.25"
5.01"6"

.375"

69.76"33.615"

46.52"

7.679"

5.238"

50.12"

6.042"

4.875"

8.285"

4.875"

8.285"

4.875"

8.285"

4.875"

8.285"

4.875"

8.285"

4.875"

3.013"

1/2"-13 tapped holes
typical for tread
support mounting

w5x16 steel i-beam
construction typical

125.7 - d

1/2"-13 tapped holes
typical for tread
support mounting

w5x16 steel i-beam
construction typical

mount plate type 4
drawing #8 on ID3 

mount plate type 5
drawing #7 on ID4 

7.684"

46.52"

32"

27"

3"

mount plate type 4
drawing #8 on ID3 mount plate type 5

drawing #7 on ID4 

1/2"-13 tapped holes
typical for tread
support mounting

.375"64.75"4.625"2"21.75"2"8.25"

.375"

64.75"38.625"

104.125"

13.5"

5"

13.5"

13" 27"3"

type 3 wing support
drawing #7 on id3

type 3 wing support
drawing #7 on id3

clearance hole
for 5/8"-11 cap screw

plates fastened to lvl beams with 5/8" x 11
high strength steel grade 8 cap screws
with grade 8 hex nuts and washers

mount plate type 5 

1.956"

.35"

1.388"

.35"

1.956"

1"

4"

1"

6"

4"5"4"

13"

1" 3" 5" 3" 1"

.495"

5.01"

.495"

.25"
2.472"

4.729"

4.729"

4.729"

4.729"

4.729"

4.729"

.548"
.25"

31.393"

36"

2.232"
.125"

1.75"

3.787"

3.787"

3.787"

3.787"

3.787"

3.787"

3.719"

.25"
.846"

4.729"

4.729"

4.729"

4.729"

4.729"

4.729"

7.693"

.25"

36.913"

1"

.25"

25.518"

1.716"

31.776"

.25"

31.394"

.25"

2.232"
.125"

1.75"

36"

7.195"

1.5"

.625"

1.875"

.5"

3.75"3.5"3.75"

.848"

4.729"

4.729"

4.729"

4.729"

4.729"

4.729"

4.235"

33.458"

36"

34.858"

44.948"

50.413"

5.14"

mount plate type 6
drawing #1 on ID8 

mount plate type 6
drawing #1 on ID8 

mount plate type 7
drawing #1 on ID8 

rail support type 1
drawing #2 on ID8 

rail support type 2
drawing #2 on ID8 

rail support type 2
drawing #2 on ID8 

rail support type 3
drawing #2 on ID8 

rail support type 1
drawing #2 on ID8 

.25"
1.249"

4.729"

4.729"

4.729"

4.729"

4.729"

4.729"

1.771"
.25"

2.232"
.125"

1.75"

31.393"

36"

ultra-tec fixed jaw
f-j62 with f-4 ferrule and

threaded tab tt-6b
typical

ultra-tec tensioner
a-j62 with f-4 ferrule and

threaded tab tt-6b
typical

ultra-tec tensioner
a-j62 with f-4 ferrule and

threaded tab tt-6b
typical

ultra-tec fixed jaw
f-j62 with f-4 ferrule and

threaded tab tt-6b
typical

1.75"
.125"

2.232"

.25"
1.771"

4.729"

4.729"

4.729"

4.729"

4.729"

4.729"

1.249".25"

36"

rail support type 1
drawing #2 on ID8 

ultra-tec tensioner
a-j62 with f-4 ferrule and

threaded tab tt-6b
typical

rail support type 2
drawing #2 on ID8 

44.948"

50.413"

6.25"

31.393"

.5"

3.75" 3.5" 3.75"

.25"
.848"

4.729"

4.729"

4.729"

4.729"

4.729"

4.729"

4.235"

.25"

1.875"

33.458"

1.5"

3.5"

7.195"

.625"

mount plate type 6
drawing #1 on ID8 

mount plate type 6
drawing #1 on ID8 

mount plate type 8
drawing #1 on ID8 

.125"
2.232"

.25"
1.151"

3.819"

3.819"

3.819"

3.819"

3.819"

3.819"

3.819"

3.507"

.25"

31.394"

36"

36"

23.317"

ultra-tec fixed jaw
f-j62 with f-4 ferrule and

threaded tab tt-6b
typical

rail support type 1
drawing #2 on ID8 

rail support type 4
drawing #2 on ID8

ultra-tec tensioner
a-jtb6 with f-4 ferrule typical

34.858"

id4

2/02/16

as noted

checked:

date:

scale:

issue / revision:

project:

drawn by:

HBJ

da
te

:
de

sc
rip

tio
n:

no
.

2/
0
2/
16

p
r
e
l
im
in
a
r
y

1

sheet:

d
o
n
o
f
r
io

s
t
a
ir

p
r
o
je
c
t

4
8
P
a
r
k
t
r
a
il

c
r
o
t
o
n
o
n
h
u
d
s
o
n
,
n
y
10
5
20

b
r
a
d

j
e
n
k
i
n
s

i
n
c

29
1
M
t
.
K
e
m
b
l
e
A
v
e

M
o
r
r
is
t
o
w
n
,
N
J
0
79
6
0

9
73
.3
3
1.
19
9
5

2

drawing:

s
t
a
ir

r
u
n
3
-
d
e
t
a
il
s

d
e
t
a
il
d
9

r
a
il
in
g
e
l
e
v
a
t
io
n
s
e
22
-e
24

elevation e14 - assembled run 3
scale: 1" = 1'-0"

1

ID4

elevation e15
scale: 1" = 1'-0"

2

ID4

elevation e16
scale: 1" = 1'-0"

3

ID4
elevation e17
scale: 1" = 1'-0"

4

ID4

run 3 plan p9
scale: 1" = 1'-0"

5

ID4

run 3 key plan p8
scale: 1" = 1'-0"

6

ID4

mount plate details d9
scale: 2" = 1'-0"

7

ID4

elevation e22
scale: 1" = 1'-0"

8

ID4

elevation e23
scale: 1" = 1'-0"

9

ID4

elevation e24
scale: 1" = 1'-0"

10

ID4

Copyright © 2016 BRAD JENKINS INC



w5x16 steel i-beam
construction typical

46.071"

E19

ID5

E21

ID5

E20

ID5

E18

ID5

mount plate type 5
drawing #7 on ID4 

w5x16 steel i-beam
construction typical

type 3 wing support
drawing #7 on id3

mount plate type 3
drawing #8 on ID3 

5.01"

45.883"

7.257"

16"

13.512"

5"

13"

6"

32"

3"

1/2"-13 tapped holes
typical for tread
support mounting

.375"63.75"40.125".375"

104.625"

41.738" 62.137"

13.512"

44.643"

45.802"

2"21.5"2"8.25"

2.551"

4.875"

8.285"

4.875"

8.285"

4.875"

8.285"

4.875"

8.285"

4.875"

8.285"

4.875"

5.272"

144.3 - d

1/2"-13 tapped holes
typical for tread
support mounting

w5x16 steel i-beam
construction typical

3.25"

mount plate type 3
drawing #8 on ID3 

type 3 wing support
drawing #7 on id3

mount plate type 5
drawing #7 on ID4 

39.628"

13.512"

5.01"

44.638"

16"

13.5" 5" 13.5"

16"

13.5"

5"

13.5"

3"

.375"63.75"6.375"2"21.5"2"8.25"

.375"

104.625"

mount plate type 5
drawing #7 on ID4 

1/2"-13 tapped holes
typical for tread
support mounting

type 3 wing support
drawing #7 on id3

mount plate type 3
drawing #8 on ID3 

4.729"

4.729"

4.729"

4.729"

4.729"

4.729"

7.693"

.25"

.846"

.25"

36.913"

25.518"

31.776"

1.623"

1"

.25"
2.472"

4.729"

4.729"

4.729"

4.729"

4.729"

4.729"

.548"
.25"

2.232"
.125"

19.004"

.125"
2.232"

.25"
1.142"

3.819"

3.819"

3.819"

3.819"

3.819"

3.819"

3.819"

3.516".25"

3.875"

31.394"

mount plate type 7
drawing #1 on ID8 

mount plate type 6
drawing #1 on ID8 

mount plate type 6
drawing #1 on ID8 

ultra-tec fixed jaw
f-j62 with f-4 ferrule and

threaded tab tt-6b
typical

ultra-tec tensioner
a-j62 with f-4 ferrule and

threaded tab tt-6b
typical

mount plate type 8
drawing #1 on ID8 

ultra-tec pull lock
pul-4 end fixing

typical

36"

.25"

4.729"

4.729"

4.729"

4.729"

4.729"

8.068"

.25"

.843"

4.729"

37.285"

34.858"

3.75" 3.5" 3.75"
12.775"

4.729"

4.729"

4.729"

4.729"

4.729"

4.729"

1.861"
.25"

1.158"
.25"

2.232"
.125"

1.75"

77.035"

81.47"

mount plate type 6
drawing #1 on ID8 

mount plate type 6
drawing #1 on ID8 

ultra-tec fixed jaw
f-j62 with f-4 ferrule and

threaded tab tt-6b
typical

ultra-tec tensioner
a-j62 with f-4 ferrule and

threaded tab tt-6b
typical

rail support type 1
drawing #2 on ID8 

rail support type 2
drawing #2 on ID8 

rail support type 2
drawing #2 on ID8 

rail support type 1
drawing #2 on ID8 

rail support type 4
drawing #2 on ID8 

rail support type 2
drawing #2 on ID8 

.5"

1.5"

2.232"

3.819"

3.819"

3.819"

3.819"

3.819"

3.819"

3.819"

3.516"
.25"

mount plate type 6
drawing #1 on ID8 

ultra-tec pull lock
pul-4 end fixing

typical

rail support type 1
drawing #2 on ID8 

.125"

.25"
1.142"

mount plate type 6
drawing #1 on ID8 

rail support type 1
drawing #2 on ID8 

ultra-tec tensioner
a-jtb6 with f-4 ferrule typical

80.325"

3.25"

2.5"

36"

1.5"
35.038"

1.5"
35.038"

1.5"

rail support type 3
drawing #2 on ID8 

id5

2/02/16

as noted

checked:

date:

scale:

issue / revision:

project:

drawn by:

HBJ

da
te

:
de

sc
rip

tio
n:

no
.

2/
0
2/
16

p
r
e
l
im
in
a
r
y

1

sheet:

d
o
n
o
f
r
io

s
t
a
ir

p
r
o
je
c
t

4
8
P
a
r
k
t
r
a
il

c
r
o
t
o
n
o
n
h
u
d
s
o
n
,
n
y
10
5
20

b
r
a
d

j
e
n
k
i
n
s

i
n
c

29
1
M
t
.
K
e
m
b
l
e
A
v
e

M
o
r
r
is
t
o
w
n
,
N
J
0
79
6
0

9
73
.3
3
1.
19
9
5

2

drawing:

s
t
a
ir

r
u
n
4
-
d
e
t
a
il
s

r
a
il
in
g
e
l
e
v
a
t
io
n
s
e
25

-
e
27

elevation e18 - assembled run 4
scale: 1" = 1'-0"

1

ID5

elevation e19
scale: 1" = 1'-0"

2

ID5 elevation e20
scale: 1" = 1'-0"

3

ID5

elevation e21
scale: 1" = 1'-0"

4

ID5

run 4 plan p11
scale: 1" = 1'-0"

5

ID5
run 4 key plan p10
scale: 1" = 1'-0"

6

ID5

elevation e25
scale: 1" = 1'-0"

7

ID5

elevation e26
scale: 1" = 1'-0"

8

ID5
elevation e27
scale: 1" = 1'-0"

9

ID5

Copyright © 2016 BRAD JENKINS INC



36"

11"

3"10"10"10"3"

2.25"

6.5"

2.25"

countersunk hole for 5/8"-11
flat socket head screw typ.

run 1&2 tread (12 pieces) 1" thick
finish all sides

40"

countersunk hole for 5/8"-11
flat socket head screw typ.

run 3&4 tread (12 pieces) 1" thick
finish all sides

11.688"

2.25"

7.188"

2.25"

3" 11.333" 11.333" 11.333" 3"

grain

grain

36"

4"

28.054"

28.054"

36"

4"

123.75 - d

grain

g
r

a
in

run 1 lower landing (1 piece) 2" thick
finish all sides

run 1 upper landing (1 piece) 2" thick
finish all sides

36"

3.25"

37"

5.375" 30.625"

40.25"

run 2 lower landing (1 piece) 2" thick
finish all sides

36"

36"

grain

graingrain

run 3 upper landing (1 piece) 2" thick
finish all sides

37.75"

40.75"40.75"

37.5"

grain

run 4 lower landing (1 piece) 2" thick
finish all sides

.5".75".5"

1.75"

1.75"

.5"

.75"

.5"

1/2" radius

typ. railing section 

wood step
21/32 hole

bottom

top
1.2"

1"

.656"

.324"

typ. stair tread hole detail

countersunk hole for 5/8" - 11
flat socket head screw
82 degree counter sink

id6

3/02/16

as noted

checked:

date:

scale:

issue / revision:

project:

drawn by:

HBJ

da
te

:
de

sc
rip

tio
n:

no
.

1/
22

/1
6

p
r

e
l
im

in
a

r
y

1

sheet:

d
o

n
o

f
r

io
s

t
a

ir
p

r
o

je
c

t
4

8
P

a
r

k
t
r

a
il

c
r

o
t
o

n
o

n
h

u
d

s
o

n
,

n
y

10
5

20

b
r

a
d

j
e

n
k

i
n

s
i
n

c
29

1
M

t
.

K
e

m
b

l
e

A
v

e
M

o
r

r
is

t
o

w
n

,
N

J
0

79
6

0
9

73
.3

3
1.
19

9
5

2

drawing:

w
o

o
d

p
a

r
t

d
e

t
a

il
s

 

wood part details d6
scale: 2" = 1'-0"

1
ID6

wood railing detail d7
scale: 6" = 1'-0"

2
ID6

countersink detail d8
scale: 6" = 1'-0"

3
ID6

2/
0

2/
16

p
l
o

t
s

e
t

wood part notes:

- wood parts are to be fabricated on site
with re-claimed material.

- all parts finished on all sides.

- finish color to be chosen by the client.

- all wood edges to receive chamfered
bevel and easing as shown in drw. #2 on
sheet ID9.

2
3
/0

2/
16

r
e

v
is

e
d

Copyright © 2016 BRAD JENKINS INC



10
2

run 3

run 4

floor above removed
for this plan view

d
n

outline of nosing

E30

ID7

E32

ID7

E31

ID7

10
2

run 3

run 4

floor above removed
for this plan view

d
n

u
p

outline of nosing

down

E28

ID7

E29

ID7

E27

ID5

up

10
2

outline of floor
opening above

outline of nosing
overhang above

floor above removed
for this plan view

d
n

up

run 1

run 2

railing post on
first floor

E23

ID4

E
22ID
4

E24

ID4

E
25ID
5

E26

ID5

ultra-tec fixed jaw
f-j62 with f-4 ferrule and

threaded tab tt-6b
typical

rail support type 1
drawing #2 on ID8 

mount plate type 6
drawing #1 on ID8 

rail support type 5
drawing #2 on ID8 

.25"
.899"

4.732"

4.732"

4.732"

4.732"

4.732"

4.732"

8.217"

.25"

37.511"

1.75"

1.5"

5.603"

4.094"
3.5"

4.094"

.575"

3.843"

3.843"

3.843"

3.843"

3.843"

3.843"

3.781"

81.05"

85.518"

mount plate type 6
drawing #1 on ID8 

rail support type 5
drawing #2 on ID8 

.125"
2.232"

.25"
1.24"

4.732"

4.732"

4.732"

4.732"

4.732"

4.732"

1.759"
.25"

11.749"

4"
1.5"

2.5"

36"

1.25"

36"

ultra-tec tensioner
a-j62 with f-4 ferrule and

threaded tab tt-6b
typical

ultra-tec fixed jaw
f-j62 with f-4 ferrule and

threaded tab tt-6b
typical

rail support type 1
drawing #2 on ID8 

mount plate type 6
drawing #1 on ID8 

rail support type 5
drawing #2 on ID8 

4.732"

4.732"

4.732"

4.732"

4.732"

4.732"

8.217"

37.511"

5.603"
3.843"

3.843"

3.843"

3.843"

3.843"

3.843"

3.781"

81.05"

85.518"

mount plate type 6
drawing #1 on ID8 

rail support type 5
drawing #2 on ID8 

2.232"

4.732"

4.732"

4.732"

4.732"

4.732"

4.732"

36"

36"

1.759"

.25"

.25"
1.24"

6.999"

1.25"

4.094"
3.5"

4.094"

.25"

.899"

.25"

2.232"

3.819"

3.819"

3.819"

3.819"

3.819"

3.819"

3.819"

3.516"
.25"

mount plate type 6
drawing #1 on ID8 

ultra-tec pull lock
pul-4 end fixing

typical

rail support type 6
drawing #2 on ID8 

.125"

.25"
1.142"

mount plate type 6
drawing #1 on ID8 

rail support type 1
drawing #2 on ID8 

ultra-tec tensioner
a-jtb6 with f-4 ferrule typical

77.45"

.125"
2.5"

36"

1.5"
35.163"

1.5"
35.163"

1.5"

3.819"

3.819"

3.819"

3.819"

3.819"

3.819"

3.819"

mount plate type 6
drawing #1 on ID8 

ultra-tec pull lock
pul-4 end fixing

typical

rail support type 6
drawing #2 on ID8 

rail support type 1
drawing #2 on ID8 

ultra-tec tensioner
a-jtb6 with f-4 ferrule typical

49.731"

rail support type 6
drawing #2 on ID8 

1.142"
.25"

2.232"
.125"

3.516"

.25"

31.394"

36"

35.453"

1.5"

4"

1.5"

35.481"

1.5"

4"

1.5"

ultra-tec tensioner
a-j62 with f-4 ferrule and

threaded tab tt-6b
typical

ultra-tec fixed jaw
f-j62 with f-4 ferrule and

threaded tab tt-6b
typical

rail support type 6
drawing #2 on ID8 

mount plate type 6
drawing #1 on ID8 

rail support type 5
drawing #2 on ID8 

4.732"

4.732"

4.732"

4.732"

4.732"

4.732"

7.912"

37.205"

3.843"

3.843"

3.843"

3.843"

3.843"

3.843"

3.781"

81.665"

86.041"

mount plate type 6
drawing #1 on ID8 

rail support type 5
drawing #2 on ID8 

2.232"

4.732"

4.732"

4.732"

4.732"

4.732"

4.732"

36"

36"

1.814"

.25"

.25"
1.186"

4.094"
3.5"

4.094"

.25"

.899"

.25"

5.602"

3.949"

id7

3/02/16

as noted

checked:

date:

scale:

issue / revision:

project:

drawn by:

HBJ

da
te

:
de

sc
rip

tio
n:

no
.

2/
0
2/
16

p
r
e
l
im
in
a
r
y

1

sheet:

d
o
n
o
f
r
io
s
t
a
ir

p
r
o
je
c
t

4
8
P
a
r
k
t
r
a
il

c
r
o
t
o
n
o
n
h
u
d
s
o
n
,
n
y
10
5
20

b
r
a
d

j
e
n
k
i
n
s

i
n
c

29
1
M
t
.
K
e
m
b
l
e
A
v
e

M
o
r
r
is
t
o
w
n
,
N
J
0
79
6
0

9
73
.3
3
1.
19
9
5

2

second flr. railing plan p14
scale: 1/2" = 1'-0"

3

ID7

drawing:

r
a
il
in
g
k
e
y
p
l
a
n
s

e
l
e
v
a
t
io
n
s
e
28

-
e
3
2

p
l
a
n
s
p
12
-
p
14

first flr. railing plan p13
scale: 1/2" = 1'-0"

2

ID7

basement railing plan p12
scale: 1/2" = 1'-0"

1

ID7

elevation e28
scale: 1" = 1'-0"

4

ID7
elevation e29
scale: 1" = 1'-0"

5

ID7

elevation e30
scale: 1" = 1'-0"

6

ID7

elevation e31
scale: 1" = 1'-0"

7

ID7

elevation e32
scale: 1" = 1'-0"

8

ID7

3
/0
2/
16

r
e
v
is
e
d

Copyright © 2016 BRAD JENKINS INC



mount plate type 6
1/4" steel

mount plate type 7
1/4" steel

mount plate type 8
1/4" steel

1"1.5"1"

3.5"

.313"

1.5"

.313"

2.125"

.25"

1.625"

.25"

.25"

3"

.25"

1"

1.5"

.313"

2.813"

.25"
.438"

.25"

1.625"

.25"

.25"

1.625"

.25"

.438"

.25"

2.125" .688"

1"1.5"
.313"

.688"

2.125"
1.5"

1.5"

.25"
2.25"

2.5"

.25"

2.25"2.5"

.25"

1.625"

.25"

2.125"

.25"
.83"

1.08"
1.08"2.125"

112.5 - d

countersunk hole for
#8 flat head screw

typical

countersunk hole for
#8 flat head screw

typical

countersunk hole for
#8 flat head screw

typical

square steel tube
railing post .083" wall

square steel tube
railing post .083" wall

1/4" radius

1/4" radius

rail support type 3
brushed stainless

rail support type 2
brushed stainless

rail support type 1
brushed stainless

rail support type 4
brushed stainless

rail support type 6
brushed stainless

rail support type 5
brushed stainless

.125"

2.232"

.25"

2.607"

.25"
.834"

.25"

.5"

.25"
.75"

1.334" 1.334"

.125"

1.084"

.125"

1.5"

1.5".625"

.312"
2.375"

.312"

.312"

.312"

3"
top view

side view
(symetrical)

end view
(symetrical)

countersunk holes on
underside #8 flat head

screw typical

tapped for 8-32 screw
both sides of bracket

1.334"

.125"

1.084"

.125"

end viewside view

tapped for 8-32 screw
both sides of bracket

.25"

2.227"
2.6"2.413"

.75"
.25"

.5"

.25"
.834"

.25"
1.334"

3"

126.78 - d

countersunk holes on
underside #8 flat head

screw typical
same dim. as type 1 plate

1.5"

1.5"

countersunk holes on
underside #8 flat head

screw typical
same dim. as type 1 plate

1.5"

1.5"

.772"
2.228"

126.78 - d

1.334"

end view

.125"

1.084"

.125"

top view top view

side view

tapped for 8-32 screw
both sides of bracket

.75"

.25"

2.232"

.125"

2.607"

.5"

.25"

.25"

.834"
.25"

1.334"

.25" r

.25" r .25" r

.25" r

.25" r

side view

tapped for 8-32 screw
both sides of bracket

.75".5"

1.334"
.25" r

.25"
.834"

.25"

.25"

.25"

2.232"

.125"

2.607"

1.396"

.312"

1.396"

.312"

1.709"

1.709"

.312" .312"

.625"

.312" .979"

1.291"

112.5 - d

.25" r

top view

1.334"

end view

.125"

1.084"

.125"

1.334"

end viewside view

tapped for 8-32 screw
both sides of bracket

countersunk holes on
underside #8 flat head

screw typical
same dim. as type 1 plate

1.5"

1.5"

top view

.25" r

.125"

1.084"
.125".25"

.834"
.25"

1.334"

.25"

.5"

.25"

2.837"

.75"

2.407"2.407"
2.228"

125.7 - d

1.334"

side view end view

tapped for 8-32 screw
both sides of bracket

.25" r

.125"

1.084"

.125"

.125"

2.232"

.25"

.5"

.25"
.75"

2.607"
1.5"

.5"

1.5"

.25"
.834"

.25"

1.334"

countersunk holes on
underside #8 flat head

screw typical

.312"
1.5"

1.812"

.312"

.312"

.312"

1.5"

.625"
1.188"

1.188"

.625"

.25" r

rail post top detail

side view
(symetrical)

countersunk for
#8 machine screw
both sides of post

typical rail support
type 1-6

.5"

.333"

.834"

.333"

rail post cable detail
straight pass through

side view
(symetrical)

typical rail support
type 1-6

typical 1/8" SS cable

typical 1/4" pass-
through hole

.25"

side view 

typical rail support
type 1-6

rail post cable detail
angled pass through

typical 1/8" SS cable

typical 1/4" pass-
through hole

.25"

side view 

rail post cable termination
angled fixed jaw & tensioner

typical

5/16-24 threaded hole

3/16" steel x 1/2" wide insertclearance hole for
5/16-24 threaded tab in

wall of tube post

typical 1/8" SS cable

ultra-tec tensioner
a-jtb6 with f-4 ferrule typical

ultra-tec fixed jaw
f-j62 with f-4 ferrule and

threaded tab tt-6b
typical

rail post cable termination
straight run tensioner

typical

5/16-24 threaded hole

3/16" steel x 1/2" wide insert

clearance hole for
5/16-24 threaded tab in

wall of tube post

ultra-tec pull lock
pul-4 end fixing

typical

rail post cable termination
straight run fixed stop

typical

29/64" holes
square steel tube

railing post .083" wall

square steel tube
railing post .083" wall

square steel tube
railing post .083" wall

square steel tube
railing post .083" wall

36"

11"

3"10"10"10"3"

2.25"

6.5"

2.25"

run 1&2 jade acrylic tread (12 pieces) 1" thick
laser polish all edges / eased edges

40"

1-1/4" dia. hole typ.

run 3&4 jade acrylic tread (12 pieces) 1" thick
laser polish all edges / eased edges

11.688"

2.25"

7.188"

2.25"

3" 11.333" 11.333" 11.333" 3"

1-1/4" dia. hole typ.

typical wood stair tread

typical 5/8"-11 flat socket head screw

typical jade acrylic stair tread

typical steel tread mounting plate

id8

3/02/16

as noted

checked:

date:

scale:

issue / revision:

project:

drawn by:

HBJ

da
te

:
de

sc
rip

tio
n:

no
.

2/
0
2/
16

p
r
e
l
im
in
a
r
y

1

sheet:

d
o
n
o
f
r
io
s
t
a
ir
p
r
o
je
c
t

4
8
P
a
r
k
t
r
a
il

c
r
o
t
o
n
o
n
h
u
d
s
o
n
,
n
y
10
5
20

b
r
a
d

j
e
n
k
i
n
s

i
n
c

29
1
M
t
.
K
e
m
b
l
e
A
v
e

M
o
r
r
is
t
o
w
n
,
N
J
0
79
6
0

9
73
.3
3
1.
19
9
5

2

drawing:

d
e
t
a
il
s
D
10

-
d
13

s
t
a
ir
t
r
e
a
d
d
ia
g
r
a
m

mount plate details d10
scale: 4" = 1'-0"

1
ID8

rail support details d11
scale: 4" = 1'-0"

2
ID8

rail post details d12
scale: 4" = 1'-0"

3
ID8

jade acrylic tread details d13
scale: 2" = 1'-0"

5
ID8

stair tread diagram
scale: none

4
ID8 interactive online project models:

stair system-
https://skfb.ly/HVWY

stair system in the structure-
https://skfb.ly/HSHq

3
/0
2/
16

r
e
v
is
e
d

Copyright © 2016 BRAD JENKINS INC



(2
)

1.
75

"
x

9
.5

"
lv

l
f

l
u

s
h

g
ir

d
e

r

(3) 1.75" x 9.5" lvl flush girder

w
10

x
22

f
lu

s
h

g
ir

d
e

r

steel column

9.5" TJI-210 @ 16"oc

9.5" TJI-210 @ 16"oc

concrete
bearing

concrete
bearing

134.5"

81.438"

10.5" concrete wall

(2
)

1.
75

"
x

9
.5

"
lv

l
f

l
u

s
h

g
ir

d
e

r

9.5" TJI-210 @ 16"oc

9.5" TJI-210 @ 16"oc

(2
)

1.
75

"
x

9
.5

"
lv

l
f

l
u

s
h

g
ir

d
e

r
o

n
t

o
p

o
f

f
r

a
m

e
d

w
a

l
l

r
e

s
t

in
g

o
n

s
t

e
e

l
g

ir
d

e
r

b
e

lo
w

wood post to steel girder
& stl. column below

(3) 1.75" x 9.5" lvl flush girder

wood post to 10.5"
concrete below

wood post to 10.5"
concrete below

144.75"

87.438"

(1
)

1.
75

"
x

9
.5

"
l

v
l

g
ir

d
e

r
f

r
a

m
e

d
f

lu
s

h
in

t
o

s
t

u
d

w
a

l
l

2x
6

@
12

"
o

c

mount plate type 6
drawing #1 on ID8 

ultra-tec pull lock
pul-4 end fixing

typical

rail support type 1
drawing #2 on ID8 

mount plate type 6
drawing #1 on ID8 

rail support type 1
drawing #2 on ID8 

ultra-tec tensioner
a-jtb6 with f-4 ferrule typical

3.75"

1.5"

43.542"

1.5"

43.542"

1.5"

43.542"

1.5"

3.75"

144.125"

1.75"
.125"

2.232"
.25"

1.142"

3.819"

3.819"

3.819"

3.819"

3.819"

3.819"

3.819"

3.516"
.25"

36"

31.394"

railing wall plate
railing wall plate

wall

wall

5/8" radius

countersunk hole for
#8 flat head screw

typical

4"

1"

2"

1"

1"

1"

.125"
1.25"

.375"

left & right sides

1" 2" 1"

.125"

1.25"

top & bottom

1.625"

.75"

1.625"

1.625" .75" 1.625"

4"

2.518"

2.518"

.375"

.625"

.75"

.625"

.625" .75" .625"

.125"

2"

2"

1-5/8" radius

socket to fit
wood railing profile

4"

.125"

typical chamfered edge
all top edges of wood

treads & landings
typical wood tread

typical jade acrylic tread

end view of
assembled tread

eased edges typical

eased edges typical

id9

3/02/16

as noted

checked:

date:

scale:

issue / revision:

project:

drawn by:

HBJ

da
te

:
de

sc
rip

tio
n:

no
.

2/
24

/1
6

p
r

e
l

im
in

a
r

y
1

sheet:

d
o

n
o

f
r

io
s

t
a

ir
p

r
o

je
c

t
4

8
P

a
r

k
t

r
a

il
c

r
o

t
o

n
o

n
h

u
d

s
o

n
,

n
y

10
5

20

b
r

a
d

j
e

n
k

i
n

s
i

n
c

29
1

M
t

.
K

e
m

b
l

e
A

v
e

M
o

r
r

is
t

o
w

n
,

N
J

0
79

6
0

9
73

.3
3

1.
19

9
5

2

drawing:

e
l

e
v

a
t

io
n

e
3

3
,

d
e

t
a

il
s

d
14

,
d

15
f

r
a

m
in

g
p

l
a

n
s

second flr. framing plan p15
scale: 1/2" = 1'-0"

3
ID9

first flr. framing plan p16
scale: 1/2" = 1'-0"

4
ID9

balcony railing elevation e33
scale: 1" = 1'-0"

1
ID9

railing wall plate detail d14
scale: 6" = 1'-0"

5
ID9

typical chamfered edge detail d15
scale: 6" = 1'-0"

2
ID9

3
/0

2/
16

r
e

v
is

e
d

Copyright © 2016 BRAD JENKINS INC


